
sales@pyramid-plastics.co.uk
+44 (0)1427 677990
www.pyramid-plastics.co.uk

Remove the two plastic push rivets on the underside of the nose fairing assembly. Fig 1

Fix the two M6 x 16mm flange headed bolts through the two mounting holes in the bikes frame 
(The front wheel will need to be adjusted to gain access, it may take some time as hand 
space is tight). Fig 2

Offer the part up to the bike, so that the M6 x 16mm flange headed bolts go through the rear 
most mounting holes of the part.

Fix the part to the bike using the plastic washers and M6 Nyloc nuts. Don't fully tighten so to Fix the part to the bike using the plastic washers and M6 Nyloc nuts. Don't fully tighten so to 
allow for adjustment (the part will hang down at the front). Fig 3

Fix the expansion plugs through the two forward mounting points with the two remaining 
plastic washers and tighten. Fig 4

Fix the two zip ties through the 12mm hole. Take the zip ties up through the central vent in the 
bike, then out of the side vent (one zip tie each side). Fig 5
Bend an angle in the end of the zip tie, this helps to thread through the vents.

Now fully tighten the M6 bolts and the expansion plugs. Pull the zip ties tight and cut off the Now fully tighten the M6 bolts and the expansion plugs. Pull the zip ties tight and cut off the 
excess.

541000 CRF1000L Africa Twin Beak
Kit Includes:

2X M6 x 16mm Flange headed bolts
2X M6 Nyloc nuts
2X Expansion plugs
4X Large plastic washers
2X 430mm X 4.8mm Cable ties

  

CBOLM60008
CNUTM60003

CWASM60004
CAB0430

Fig 1

Fig 4

Fig 2

Fig 3

Fig 5


